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SD345 N/mm?
pf, (N/mm?) M, /bd?(N/mm?)
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5.2 p.117
eb
1 e, /d=(M, /bd?)/(N,/bd) 46.2/75.6 0.61
e Mu, N

M, /bd? =32kgf /cm? N, /bd =160 kgf /cm?
M, /bd?f,=32/240 0.13 N,/bdf,=160/240 0.67
f, = 240 kgf / cm?
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6-2 X SD
6.3
A, =2D13=253cm? SD395 s=18cm
* *
- 253* 395* 4348 _ . o\ Vo =76kN -V, = 210+ 76 = 286kN
180*1.15
Y,
=t 2112 10010 L !
Vg 286kN
N/mm?

f, =023f.°"° =0.23* 3023 = 2.22 N / mm?
oo =019/, =0.19% 302 =1.04 N / mm?
fo =125/ f, =1.25%30"2 =6.85N /mm?

fo, =28f, =2.8*30"% =153N /mm?

E. =28 N/mm?

-
E, =2.1%10°(2)*8 ¢
23 V200
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